RARBFEHAR (£ ﬁlﬁé}ﬁlov ofechnik

A

TR/TRS R5If& R3S
HEMBAERKSE, TEEREX 100 mm
HEAEE

W B
A 5e PR AR ALE
% % AT T
EivA F AIS| 303 ANEEHN, WP L TERE S ®, PIREL M2.5x6
2 ke WA M5x0.5 IRALIRE R RER, ¥ KALBE, HFgZopsi )
EQUTIVS Wit DU Z2 1k %0kHlhk
HUBH T S et
AL AR AT R, SRR e
WA
TR #% 35 PVC Biiigl, 3x014mm®, K2%
TRS %51 5 %} IEC 130-0 Il ffi %
i Vot
TR-0010 023260
TR-0025 023261
TRS-0025 023271
TR-0050 023262
TRS-0050 023272
TR-0075 023263
TRS-0075 023273
TR-0100 023264
TRS-0100 023274
AIRE P EREH
LSI=p T
o BEMAFAK, BITRERTIE 100 X 10° Kigs) 2_S TEAS B SRR
I 1 R o TR-0025-.1 023265 +£041 %
o &S, Hmnlis £0.075% TRS-0025-.1 023275 +01%
o iy H WL B A Ok AT gk TR-0050-.1 023266 +0.1%
gt TRS-0050-.1 023276 +0.1 %
o AR fh o
[ TR-0050-.05 023267 +0.05 %
o Wivin A fhk TRS-0050-.05 023277 +0.05 %
o biohd FIRBIAYTEREL TR-0075-.05 023268 +£0.05 %
TRS-0075-.05 023278 +0.05 %
TR-0100-05 023269 +0.05 %
TRS-0100-.05 023279 +0.05 %

B A% 145 I S 2Dt XA RS HIF — A5
i RIEAT A B R AR IMER A ) HLE S R L [
B EENE, AREMEX Had TRERNE BT,
A E AL A - A EE N E, 28 BT pi

Jiif ChnfE B R D AR )%
i 1 TR i 232 M e K REAES B 2
SRR . BLAT R U E
—ARHIFE, EREHR
L B LT Bk E AT A 2l P S
73l 77 AR e 25

EEM 33-70 EEM 33-71 EEM 33-72

31

34

TEL:400-800-5927 48T : 173 1638 6953 EET:180 1936 4947 www.imcortech.net



AW

RREBEEAR (LB FRAF

novotechnik

21
o)
8| o Nl
Y = +— ©f
© (@ T =
I 1 < N o~
- . o
?| ——8CF
DIN EN ISO 1207 B == t
M4x10 16 1 <!
1 N &
HE I 18 DIN EN ISO 1207
e K 140 Nem M4x10 16
HE 56

o

%K 140 Nem L 18 |
[sa]
©
=
2 M2,5x5
B
2
E
= S
5
B
o

< —_J
T gk om —
e @ | @3
I
SW-10 « B
O
[2]
‘L j SW-10
= td
L4 +03
e 40
1 bife 1
2 4fn 2
3k ;

Hetkld -

TEL:400-800-5927 48T : 173 1638 6953 EET:180 1936 4947 www.imcortech.net



=) 3 \NF
RRBEEAR (BB HRA I;Iovotechnik

R}

BEEN TR-0010 TR-0025 TR-0050 TR-0075 TR-0100 B
TRS-0025 TRS-0050 TRS-0075 TRS-0100 sk
BESH BT
AR 10 25 50 75 100 mm
LIy 12 27 52 77 102 mm
K e BAAR 1 1 5 5 5 kQ
BELAE 2 7% 20 +%
T L P 0.25 0.2 0.15 0.1 0.075 +%
DES N1 0.002 mm
R AR AL I <1 PA
SRR T R fpe K HL I 10 mA
SR SLVFLARRE 24 42 42 42 42 %
it R S A\ PR A ORI R AL W5 ppm/K
#aBil#t (500 VDO) >10 MQ
a3 (500 VAC, 50 Hz) <100 A
RS
ShsetelE (RsFA) 48 63 94.4 134.4 166 £1mm
HAFRE (RS B) 15 30 55 80 105 *1.5mm
R-FC (TR %51) 7 12 12 12 12
RFD (TR #51) 6 32 32 32 32
WO
g 80 120 150 180 200 g
i B8 74 100 128 150 g
HEER BRI 18 25 36 48 57 g
TAEZT) (KFEFi 1) <35 <25 <25 <25 <25 N
TAESTRZ ) (KFE i1 ) <5.0 <5.0 <5.0 <5.0 <5.0 N
A LB TAEZ T BK5 N
Je K TAESR A (R80T 0L RIA% R 25 46 D Sl |22 et ) 20 18 14 11 10 Hz
5] 8 SR ET ) dpe K SL R HLAE 140 Nem
HESH
AR B -30 ... +100 C
btz 5.... 2000 Hz
A= 0.75 mm
A =20 g
iR a b 50 q
1 ms
F iy >100 x 10° ®
Bl %57 4% IP 40 (DIN EN 60529)
TEARERE HEE G AR FEEm
2A Z-45 TR, WA TEFR PR 2 MAP .. 44~ 73-31 %N (ERHR R P AR et B L A
4 > M4x10 BR%T {5552 MUP ... / MUK ..., FE SRS 059010 MFFar. ekt Piob Tk
1A SRS 455 iR fpke TAEHRE 24V, Frdefs S RELAE Ry R TE 2R T R B0
H#:k, IEC130-9, BAH, RGBS TAEELLEH
5x0.75mm?, @ 4-6 mm TBOK #3423 i

EEM 33-70, AHibfilk, P67  JERZWGRI, H#R) Ak
EEM 33-71, #ibtik, P40 (le <1 pA) BEHEHT.

243, IEC 130-9
EEM 33-72, #ibtill, IP40

R HSk Z-R50
P g 005678

WA S, AT

TEL:400-800-5927 48T : 173 1638 6953 EET:180 1936 4947 www.imcortech.net





